MINUTES OF THE MEETING OF THE PROCUREMENT COMMITTEE HELD ON 23.01.2017 AT 01:30 P.M FOR SUPPLY OF OFFICE STATIONERY FOR ALL WORKERS MODEL SCHOOLS/ COLLEGES OF SWWB (EDUCATION SECTION).

A meeting of the Procurement Committee was held on 23.01.2017 at 01:30 p.m in the office of the Secretary WWBS, Karachi, to open the tenders invited for procurement of Office Stationery for all Workers Model Schools/ Colleges and Education Secretariat for the existing financial year 2017-18. Following attended the meeting:

1. Sved Anwar Ausaf.

Director (Finance) WWB, Sindh.

Convener

2. Mrs.Nuzhat Habib,

Dy: Secretary (A&C) Education Section, WWB, Sindh.

Member/Secretary

3. Mr.Khalid Hussain Khokhar

Deputy Director (Admin) WWB, Sindh

Member

4. Mr.Abdul Manan

Representative of Industries Dept: Govt of Sindh.

Member

5. Mrs. Noor-Ul- Hadi,

Deputy Director (NILAT)

Government of Sindh.

Member

The Convener of Committee has informed to all members of the Procurement Committee that Board allocated an amount of Rs. 5.00 Million under the Head of A/cs " Purchase of Office Stationery" in the budget grant for the year 2017-18.

Accordingly, after getting necessary approval from the competent authority invite open tender and published tender notice in leading newspapers as well as hoisted on the Official Website of SPPRA.

In response, Twelve (12) firms / bidders purchased the tender documents, out of which two (07) tender documents were submitted by the interested bidders on tender opening date. Tender was opened by the Tender Opening Committee on scheduled date & time i.e. 23.01.2018 at 1:30 p.m, in presence of the representatives of competing firms. Following bidders participated in bid and submitted their tenders:

- 1. M/s. Aamir Traders, Karachi.
- 2. M/s. Harmain Enterprises, Karachi.
- M/s. Gallant Enterprises, Karachi. 3.
- M/s. Hi-Light Traders, Karachi.
- 5. M/s. Sohail Scientific Store, Karachi.
- 6. M/s. Wahah Ali Khan & Co.
- M/s. Dua Traders, Sukkur.

On detailed scrutiny of received bidding documents of the Procurement Committee in the light of term and conditions as mentioned in the bidding documents and found that both participated firms have furnished requisite documents along with tender documents. Board kept a 100 Nos. marks for evaluation & qualification criteria i.e. information of participated

us Allian Mil

firms in term of experience, financial position and other necessary information. However, both firms obtained 70% marks out of 100% which is necessary to qualify.

A comparative statement of the unit prices as quoted by the bidders have been prepared by the Committee and observed that some discrepancies between unit prices and total amount in BOQs as some participated firms and which exceeds between quoted amount and comparative amount. Comparative statement is annexed with the minutes at Flag"A". The detail summarized position of quoted prices by the participated firms as per comparative statement is re-produced below:-

Name of Firm	Quoted By Contracting firms.	Actual amount worked out in comparative statement.	Marks Obtained in Evaluation & Qualification Criteria	Remarks
M/s Gallant Enterprises, Karachi.	1,335,759/-	1,335,759/-	100/100	1st Lowest
M/s. Sohail Scientific Store, Karachi.	1,484,274/-	1,495,002/-	95/100	2 nd Lowest
M/s. Harmain Enterprises, Karachi	1,582,752/-	1,558,252/-	85/100	3 rd Lowest
M/s. Dua Traders, Sukkur.	1,638,382/-	1,638,382/-	95/100	
M/s. Aamir Traders, Karachi.	1,837,570/-	1,788,215/-	95/100	
M/s. Wahah Ali Khan & Co.	2,137,587/-	1,786,992/-	0/100	
M/s.Hi-Light Traders, Karachi	4,499,977/-	4,430,263/-	90/100	

After detail discussion regarding huge difference between 1st and 2nd lowest prices after making comparative statement and decided as follows:-

Decision:.

 Committee has decided and recommended to award this tender to M/s. Gallant Enterprises, Karachi with the amount of Rs.1,335,759/-.

The meeting ended with a vote of thanks to and from the Chair.

Committee Members	Signature	Committee Members	Signature
(Nuzhat Habib) Dy: Secretary (A&C), WWB, Sindh (E.S), Member/ Secretary.	19th	(Abdul Manan) Examiner of Store, Representative of Industries Dept: Govt. of Sindh/ Member	Allen
(Khalid Hussain Khokhar) Dy: Director (Admin) WWBS/Member		(Mr. Noor-ul-Hadi) Deputy Director (NILAT) Govt. of Sindh/ Member	rd
(Syed Anwar Ausaf,) Director (Finance), WWB, Sindh/ Convener of Committee	Jen		

BID EVALUATION REPORT

1)	Name of Procuring Agency:	Workers Welfare Board, Sindh.
2)	Tender Reference No.	WWBS/ES/Admin/st/2(1861)/2017/
3)	Tender Description/Name of work/item:	Procurement of Office Stationery for all Workers Model Schools/ Colleges of Workers Welfare Board Sindh (Education Section).
4)	Method of Procuring:	Single Stage – One Envelope.
5)	Tender published:	Tender notice published in Newspapers Daily Jang (Urdu), Daily Dawn (English), Daily Sindh Afair (Sindhi) & Daily Apeal (Sindhi) on 05.01.2018, 05-01-2018 & 05.01.2018 respectively and also hoisted on the website of SPPRA on 04.01.2018 vide Sr.No.35995.
6)	Total Bids Documents Sold:	Fifteen (12)
7)	Total Bids Received:	Seven (07).
8)	No. of Bids Rejected:	NIL
9)	Bid Opening Date:	23.01.2018

Bid Evaluation Report

Article #	Article Description	Name of Bidding Firm	Quoted Rate as passed by the Committee	Ranking in Terms of Cost
1)	Procurement of Office Stationery for all Workers Model Schools/ Colleges of Workers Welfare Board	M/s. Gallant Enterprises, Karachi.	1,335,759/-	1 st Lowest
	Sindh (Education Section).	M/s. Sohail Scientific Store, Karachi.	1,495,002/-	2 nd Lowest
		M/s. Harmain Enterprises, Karachi	1,558,252/-	3 rd Lowest

Following members of Procurement Committee after due consideration has recommended to accept the 1st lowest best evaluated bid in favor of M/s. Gallant Enterprises, Karachi, in amount of *Rs.1,335,759/-*.

Committee Members	Signature	Committee Members	Signature
(Nuzhat Habib) Dy: Secretary (A&C), WWB, Sindh (E.S), Member/ Secretary.	D D	(Abdul Manan) Examiner of Store, Representative of Industries Dept: Govt. of Sindh/ Member	Adliban
(Khalid Hussain Khokhar) Dy: Director (Admin) WWBS/Member		(Mr. Noor-ul-Hadi) Deputy Director (NILAT) Govt. of Sindh/ Member	nd
(Syed Anwar Ausaf,) Director (Finance), WWB, Sindh/ Convener of Committee	Jung		

COMPARATIVE STATEMENT

Comparative Statement for supply of Office Stationery for Workers Model Schools / Colleges and Education Secretariat in f.y 2017-18

				ENTE	ALLANT ERPISES, RACHI	TRA	AAMIR ADERS, RACHI.		HARMAIN ERPRISES.	and the second second	H-LIGHT ADERS.	SCI	. SOHAIL ENTIFIC STORE		VAHAJ ALI AN & CO	TR	/S. DUA ADERS, JKKUR
Item				Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.	Description	Quanti ty	Unit	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)	(in PKR)
1	Ball Point (Black / Blue)	334	Pkts	82	27,388	80	26,720	72	24,048	108	36,072	64	21,376	90	30,060	70	23,380
2	Ball Point (Red)	340	Pkts	82	27,880	80	27,200	72	24,480	109	37,060	64	21,760	90	30,600	70	23,800
3	Eraser (Pelikin)	67	Pkts	720	48,240	67	4,489	385	25,795	1158	77,586	768	51,456	865	57,955	705	47,235
4	Stapler Machine (Medium)	110	Nos.	275	30,250	299	32,890	185	20,350	699	76,890	184	20,240	223	24,530	190	20,900
5	Stapler Pin (Medium)	372	Pkts	27	10,044	32	11,904	23	8,556	64	23,808	19.2	7,142	229	85,188	26	9,672
6	Jam Clip	120	Nos.	34	4,080	39	4,680	25	3,000	79	9,480	28.8	3,456	330	39,600	38	4,560
8	Stapler Pin (Large)	122	Pkts	93	11,346	207	25,254	140	17,080	179	21,838	200	24,400	175	21,350	95	11,590
9	Paper Pin	230	Box	22	5,060	34	7,820	26	5,980	45	10,350	24	5,520	332	76,360	25	5,750
11	Marker Tempo (Blue/ Black/Red) (05 Pkts of each color)	330	Pkts	68	22,440	94	31,020	430	141,900	899	296,670	72	23,760	90	29,700	87	28,710
12	Dollar Color Marker (Blue/Black/Green) (05 Pkts of each color)	332	Pkts	80	26,560	124	41,168	430	142,760	608	201,856	88	29,216	140	46,480	84	27,888
13	Squash Tap (Thick & Thin) 100 Yards 2"	77	Nos.	112	8,624	69	5,313	81	6,237	450	34,650	128	9,856	150	11,550	145	11,165
14	Flag Sticker	12	Book	90	1,080	80	960	70	840	580	6,960	64	768	86	1,032	75	900
15	Computer Paper A-4 size	600	Reams	540	324,000	747	448,200	470	282,000	1459	875,400	568	340,800	576	345,600	655	393,000
16	Computer Paper Legal size	400	Reams	630	252,000	950	380,000	590	236,000	1985	794,000	656	262,400	712	284,800	755	302,000
17	Rolled Paper	125	Bundle	475	59,375	460	57,500	320	40,000	1100	137,500	448	56,000	117	14,625	23	2,875
18	Fax Paper Roll	24	Nos.	145	3,480	161	3,864	96	2,304	1365	32,760	80	1,920	117	2,808	90	2,160
19	Hole Punch Machine (Double) Medium	97	Nos.	240	23,280	310	30,978	7 160	15,520	1365	132,405	280	27,160	194	18,818	160	15,520

In fr

~ de/

Allien (1)

C

				1											т		
20	Envelope Medium	4,000	Nos.	2.9	11,600	4	16,000	3	12,000	4.7	18,800	2.56	10,240	40	160,000	2.3	9,200
0	Envelope Large	4,000	Nos.	3.9	15,600	5	20,000	4	16,000	5.75	23,000	3.2	12,800	50	200,000	2.8	11,200
22	Envelope Small	7,000	Nos.	1.2	8,400	2	14,000	1.5	10,500	4.6	32,200	0.96	6,720	20	140,000	1.25	8,750
23	Blanko Chari	84	Nos.	56	4,704	58	4,872	35	2,940	44	3,696	35.2	2,957	43	3,612	34	2,856
24	Gum Stick (UHU) L/S	178	Nos.	345	61,410	150	26,700	40	7,120	899	160,022	76.8	13,670	54	9,612	63	11,214
25	Gum Bottle Dollar (Large)	62	Nos.	94	5,828	150	9,300	96	5,952	189	11,718	96	5,952	120	7,440	100	6,200
26	Pencil HB, Gold Fish / Deer	138	Pkts	96	13,248	138	19,044	98	13,524	89	12,282	96	13,248	120	16,560	70	9,660
28	Pin Cushion	115	Nos.	34	3,910	69	7,935	45	5,175	62	7,130	32	3,680	54	6,210	50	5,750
29	Thumb pin	580	Pkts	43	24,940	16	9,280	10	5,800	189	109,620	9.6	5,568	14	8,120	22	12,760
30	Pin Remover	116	Nos.	48	5,568	69	8,004	45	5,220	89	10,324	40	4,640	50	5,800	38	4,408
31	Paper Cutter	112	Nos.	40	4,480	46	5,152	30	3,360	62	6,944	40	4,480	34	3,808	45	5,040
32	Scissor (Medium)	6		175	1,050	150	900	62	372	99	594	56	336	75	450	720	4,320
33	Rubber Band	115	Pkts	37	4,255	58	6,670	120	13,800	299	34,385	256	29,440	15	1,725	35	4,025
1	Stamp Pad (Blue & Red) (one of	1 0.00	N	5.4	2 249	7.1	4.500	50	2 100	200	5 590	40	2 490		2.792	50	2 100
34	each)	62	Nos.	54	3,348	74	4,588	50	3,100	90	5,580	40	2,480	61	3,782	50	3,100
35	File Flappers	6,000	Nos.	9.5	57,000	10	60,000	8	48,000	61	366,000	11.2	67,200	10	60,000	50	300,000
36	File Board	300	Nos.	26	7,800	28	8,400	23	6,900	45	13,500	19.2	5,760	28	8,400	35	10,500
39	Dak Pad	30	Nos.	270	8,100	800	24,000	435	13,050	500	15,000	320	9,600	60	1,800	280	8,400
40	Docket Punch Single	93	Nos.	96	8,928	161	14,973	105	9,765	289	26,877	104	9,672	127	11,811	180	16,740
41	Fountain Pen	44	Nos.	35	1,540	58	2,552	32	1,408	44	1,936	16	704	40	1,760	45	1,980
42	Highlighter	181	Nos.	34	6,154	46	8,326	33	5,973	525	95,025	30.4	5,502	40	7,240	50	9,050
43	Ink Jar for Fountain Pen (Red/Blue) one each	44	Nos.	29	1,276	41	1,804	52	2,288	248	10,912	27.2	1,197	65	2,860	38	1,672
44	Ink for pad (Red/Blue) one each	62	Bottle	37	2,294	58	3,596	35	2,170	322	19,964	30.4	1,885	45	2,790	45	2,790
45	Pointer Blue/Black	92	Pkts	165	15,180	242	22,264	160	14,720	32	2,944	160	14,720	198	18,216	140	12,880
48	Tags small	169	Bunch	25	4,225	39	6,591	25	4,225	389	65,741	40	6,760	32	5,408	35	5,915
49	Tags Large	157	Bunch	30	4,710	62	9,734	40	6,280	247	38,779	56	8,792	51	8,007	56	8,792
52	Writing(Note) Pad Small	322	Nos.	22	7,084	26	8,372	20	6,440	199	64,078	16	5,152	25	8,050	40	12,880
53	Duster For Black Board	525	Nos.	20	10,500	23	12,075	18	9,450	99	51,975	19.2	10,080	22	11,550	50	26,250
54	Duster For White Board	75	Nos.	20	1,500	28	2,100	18	1,350	49	3,675	24	1,800	21	1,575	40	3,000
55	Black Marker for White Board	75 VM	Pkts	495	37,125	630	47,258	480	36,000	360	27,000	400	30,000	591	44,325	495	37,125

In Assum 10:

56	Ink Bottle for White Board Marker (Blue, Black)	15	Dozen	637	9,555	943	14,145	740	11,100	799	11,985	608	9,120	900	13,500	680	10,200
	Carbon Paper Black/Blue	22	Pkts	330	7,260	288	6,336	210	4,620	450	9,900	288	6,336	60	1,320	210	4,620
58	Printer Cartridge HP-1020 & 1102	40	Nos.	1870	74,800	4,800	192,000	5,225	209,000	7500	300,000	5600	224,000	4600	184,000	2600	104,000
59	Printer Cartridge HP-2055 & PRO M201 DW	8	Nos.	1870	14,960	5750	46,000	6000	48,000	7,599	60,792	5,600	44,800	4,600	36,800	2,800	22,400
60	Photostat Machine Toner (Cannon N.P.G 28)	2	Nos.	1150	2,300	3100	6,200	7900	15,800	1300	2,600	4240	8,480	10000	20,000	4800	9,600
	Grand Total				1,335,759		1,788,215		1,558,252		4,430,263		1,495,002		2,137,587		1,638,382
	3% E. Money as per Total Bid Valu	e			40,073		53,646		46,748		132,908		44,850		64,128		49,151
	Pay order submitted by bidders against E.Money.				40073		60000		47483		135000		45000		60000		60000

100

Mrs. Nuzhat Habib

Deputy Secretary (A&C). WWBS (E.S)

Member/Secretary

Mr. Khalid Hussain Khokhar

Deputy Director (Admin)

Workers Welfare Board Sindh

Member

Syed Anwar Ausaf

Director (Finance), WWBS

Convener

Mr. Abdul Manan

Examiner of Store

Representative of Industries Dept:

Govt. of Sindh Member

Mr. Noor-ul-Hadi

Deputy Director (NILAT)

Govt. of Sindh

Member

BID EVOLUTION CRITERIA

SR#	Description	Points	M/S.GALLANT ENTERPISES, KARACHI	M/S. AAMIR TRADERS, KARACHI.	M/S. HARMAIN ENTERPRISES.	M/S. HI- LIGHT TRADERS.	M/S. SOHAIL SCIENTIFIC STORE	M/S. WAHAJ ALI KHAN & CO	M/S. DUA TRADERS, SUKKUR
Į.	Overall Business Experience (atleast five years).	30	30	30	30	30	30	0	30
2.	Average Annual turnover for last three years: - Upto Rs.3.00 M 5 marks - Upto Rs.6.00 M 10 marks - Above Rs.10.00 M 20 marks	20	20	20	20	20	20	0	20
3.	NTN & Sales Tax Registration Certificate	Mandatory	ок	ок	ОК	ок	ОК	ОК	OK
4.	Specific Experience in supply & Printing / Stationery items or relevant articles (copies of work/purchase orders)	10	10	10	0	0	5	0	5
5.	Affidavit of firm that it is not blacklisted.	10	10	10	10	10	10	0	10
6.	Annual Income Tax Return for last three years.	10	10	10	10	10	10	0	10
7.	Sales Tax Return for last 12 months	10	10	5	5	10	10	0	10
8.	Financial Statements of last two years.	10	10	10	10	10	10	0	10
	Total :-	100	100	95	85	90	95	0	95

Note: A firm is required to obtain atleast 70% marks to qualify.

Director (Finance), WWB, Sindh/ Convener of

Committee

Committee Members	Signature	Committee Members	Signature
(Nuzhat Habib)	1)	(Abdul Manan)	740 PAC
Dy: Secretary (A&C), WWB, Sindh (E.S), Member/	10/2	Examiner of Store, Representative of	Affician
Secretary.		Industries Dept: Govt. of Sindh/ Member	Veri -
(Khalid Hussain Khokhar) Dy: Director (Admin) WWBS/Member /		(Mr. Noor-ul-Hadi) Deputy Director (NILAT) Govt. of Sindh/	~ d
(Syed Anwar Ausaf,)		Member	

Workers Welfare Board Sindh ATTENDANCE BID OPENING SHEET

Sulect: Supply of Office Stationary

Dated: - 23/1/2018

Time :- 1:30 pm

					Time :	1.50 pm
Sr. No.	Name of Participated Firms	Pay Orders No. and Amount of earnest money	Amount Quoted by the Firm	Amount as Calculated by the Procurement Committee	Phone No./ E-mail	Signature of the representative by the participated firms
1	M/s. Gallant Enterprises	40.073	1335759	1335,759	0332-8287044	(N Dellal
2	M/s. Inam Printers	- //	Mepale -	-		
3	M/s. Sohail Scientific	45000	148427360	1495002		
4	M/s. Harmain Enterprises	47483	1582752	1558252	03332211385	Tondo-
5	M/s. Kolachi Traders	- Hol- ba	rheipeled -		0	40
6	M/s. Aamir Traders	60,000	1837575	1788215	207726 15E0	8()
7	M/s. Wahaj Ali Khan & CO.	60,000	1786992	1786991		O.
8	M/s. Dua Traders	60,000	1638382		03218113953	120
9	M/s. Qudwai Traders					/
10	M/s. Pros Link		. /			
H	M/s SSS Conforation					
12.	M/s. Hi- light France	135000	4499977	4430263	0321-8747980).

(Mrs. Nuzhat Habib) Deputy Secretary WWBS (E.S)

Member/ Secretary

(Abdul Manan)

Representative, Industries Dept: Govt. of Sindh

Member

Director (Finance), WWBS.

Convener

(Mr. Khalid Hussain Khokhar)

Deputy Director (Admin) WWBS.

Member

(Mr. Noor-ul-Hadi)

Deputy Director (NILAT)

Member



DAWN FRIDAY JANUAR 5, 2018



WORKERS WELFARE BOARD SINDH

GOVERNMENT OF SINDH

Established under Sindh Workers Welfare Fund Act, 2014



TENDER NOTICE

SUPPLY OF OFFICE STATIONERY FOR ALL WORKERS MODEL SCHOOLS AND COLLEGES LOCATED IN SINDH

Sealed bids are invited from reputed / established firms / suppliers / contractors, registered with Income Tax and Sales Tax SRB authorities, for supply of above mentioned goods and printing articles.

Bid Security in the form of PO/DD:	3% of bid/quoted articles value
Tender Document Collection (Start Date):	Publication / Hoisting of Notice
Tender Document Collection (End Date):	23-01-2018
Tender Document Submission Date & Time:	23-1-2018 uptill 01:00 p.m.
Tender / Bid Opening Date & Time:	23-01-2018 at 1:30 p.m

DOCUMENTS COLLECTION:

Tender documents can be obtained on submission of a written request on company letterhead, supported with copies of GST/SRB & NTN Certificates, during office working hours, on payment of Tender document Cost Rs. 500/- (each) (non-refundable / non-transferable) in form of PO/DD in favour of "Workers Welfare Board Sindh" from the below address:

The Assistant Secretary (Admin)
Workers Weifare Board Sindh, Education Section
Street-19, Biock-6, Guishan-e-Iqbai,
Near NIPA Chowrangi, Karachi
Ph: 021-99244681-2.

NOTES:

- Sealed bids with necessary attachments accompanied by the Bid Security should be submitted at Sindh Workers Welfare Board, Karachi, on the tender document submission date and time.
- Bid opening procedure will be Single Stage One Envelope System. The envelope must contain complete material specifications and other documents, as required under bid evaluation criteria or any other information deemed necessary.
- any other information deemed necessary.
 The bids will be opened on the aforementioned date & time in the presence of bidders or their authorized representatives. Prospective bidders are invited to attend the tender opening (single representation). At office of the Secretary Workers Welfare Board Sindh, 8th Floor Marine Falsal Building, Nursery Stop, Main Sharah-e-Falsal Karachi.
- Incomplete or conditional tender cannot be considered or entertained.
 Sindh Workers Weltare Board reserves the right to accept or reject any bid, subject to relevant provisions of Sindh Public Procurement Rules, 2010.

ASSISTANT SECRETARY (ADMIN)

SECRETARY / C.E.O Workers Welfare Board Sindh, Karachi

St-19, Block-6, Adjacent to STEVTA, Opposite Aero Club, Gulshan-e-Iqbal, Karachi-75300, Phone: 99244681 & 99244682-Fax: 99244686, URL: www. swwb.com.pk. E-mail: swwbeadmn@gmail.com

INF-KRY: No. 40/18

Say No to Corruption

ہم دیفتر دی کے خلاف حقد ہیں۔

www.jang.com.pk الماعة تصديق شد الناعت ملك المستعملية المستعملية





وركرزويلفيئربواردسنده

ھلومت سندھ ورکرزویلفسیئرفٹ ڈا کمٹ 2014 کے تحت مت اتم ٹ

ٹینڈرنوٹس

سنده میں واقع تمام ورکرز ماڈل اسکولز اور کالجز کیلئے آفس اسٹیشنری کی فراہمی

بالا ورج كرده كذذ اور پرختگ آرفطز كي فراجي كيلئ الله ليكس اوربلزنكس SRB اقدار ثيز سے رجسٹر ؤ معروف استقلم فرح *الب*ار تراكنز يكنرز سے مربم برينكشيں مطلب ہيں۔

بذيكور في المثل PO/DD

پیکش/ورج کردهآرفیلزی قیت کا%3

فينذروستاويزات كاحصول (تاريخ آ غاز)

نونس کی اشاعت/ ہوکسانگ 23-01-2018

فيندروستاديزات كاحصول (تاريخ اختيام)

23-01-2018 ويوبر 11:00 يع بحك

الميظرد ستاويز جمع كراف ك تارخ اوروت

23-01-2018 پرت در پر 130-01 کے

فينذرا ويكلش كملني تاريخ اوروتت

دستاويزات كاحصول

نیندرد ساویرات، نیندرد ساویرات کی قبت - /8.500 فی (۱۳۶۶ می واپس) ناقائل ایشکل PO/DD بخش "ورکرز ویلنیئر بورد شده" کی ادانیک پر بی ایس آن/ایس آر بی ادراین فی ایشر فیلکینس کی نقول کی تا تیریسیاتی تیمکن کے لیفر بیڈی چریری درخواست چن کرائے پر مندر جدفیل پیدے دوران دختری ادادی ساده ماس کی جاسکی ہیں:

امسسنندمسیکریسشری (ایژمن)،

وركرز ويلفسيستر بورة سسنده الجوكيش سنيكش،

ST-19 ، بلاك_-6 بلاكسيس-6 م محمث اقب ال ، نزونيپ ، كرا مي ، فون لسب ر ST-19 مورد - 021-99244681

نەش

- ضروری الجینت اور بذیکیورٹی کے جراہ سر بھیر چیکشیں فینڈر دستاد یزات جع کرانے کی تاریخ اور وقت پرے ہ ورکر دہلیئر کاردا کرا ہی مص مح کرائی ہوں گی۔
- ا پیکشش کھنے کا طریقہ کارسنگل آنٹی ۔ون اثو پلپسسٹم ہوگا ۔نفافی بحمل میٹریل کی تصریحات اور دیگر دستاویزات جیسا کہ بذا جالیویشن کا معیاریا چوشروری مجل جائے دیگر معلومات پر لاز باششتل ہو۔
- پیششیں بولی دہندگان یاان سے بھاز نمائندوں کی موجودگی میں حند کروتاریٹا اوروقت پر کھوبی جا نمیں گی ،حق تع بولی دہندگان کوفینڈر کھلنز (سنگل ری پرینشیشن) کے وقت دفتر سیکریٹری ورکرز دیلئیئر بورڈ شدھ ،آ ٹھوییں سنزل میرین فیعل بلڈنگ بزسری استاب ، مین شاہراو فیعل کرا گیا میں شرکت کی دبوے دی جاتی ہے۔
 - ایمل یا شروط نیندرز پرفورنین کیا جائیگا یاز پرفورنین ادے جا کے۔
- مندھ پبلک پروکیورسٹ ریکے لیٹری اتھارٹی رواز 2010 کی متعلقہ شنوں سے مشروط مندھ ورکرز و مفیئر بروڈ کوکسی
 پیکلش کوٹیول اِست وکرنے کافن ماصل ہے۔

اسستنكسيكريترى (ايدمن)

21%

سيكريثري/سياي او

وركرز ويلفسية بوردسنده، كراچي

SI-19، بلاك-6، متصل نو STEVTA، بالمقابل ايروكلب، گلشن اقبال، كراچي-75300 فون 99244681 و99244682، فيكس 99244686

swwbesadmn@gmail.com.pk اى ميل URL:www.swwb.com.pk

INF-KRY:No.40/2018

ا منظروی کردهای کردهای کردهای ا ا ا ا ا ا ا ا ا ا ا ا ا ا

. O.



رابطي لاء: 03343668089 . متنجنگ ايديتر: نقيس حميد

ايدريس: پلات #26 _ اي. سوئت # 513 فغث فلور بزنيس ايونيو شاهراه. فيصل ڪراچي

هور يبورو أفيس 4 فن تعبر: 04237831400 – 03317746224. أيدريس: فورشيد بلدنگ سامهون ليستكر أفيسرز كلب 222 ملتان رود

حكر أفيسرز كلب 222 ملتان رود لاهن سنة البغرز طبيعي الأصف برتاحية المساور المساو

> E_mail: dailysindhaffairs@gmail.com www.sindhaffairs.com.pk

جمعر 05 جنوري 2018 ع، بمطابق 17 ربيع الثاني 1439هـ

وركرس ويلفيئر بوردسنذ حكومتسنڌ

سنة وركر ، ويلفيئر فنه أيكت 2014 جي تحت قائع ٿيل

ٽينڊر نونيس

سنڌ ۾ واقع سمورن ورڪرس ماڊل اسڪول ۽ ڪاليجن لاءِ آفيس اس

ل آر بي اختيارين وٽان جب جي سپلاءِ لاءِ مهريند ٽيائير

نيندر جا دستاويز وصول ڪرخ شايع ٿيڻ ويب سائيٽ تي اچڻ (شروع ٿيڻ واري تاريخ) واري تاريخ

تيمندر جا دستاويز وصول كرر | 23.01.2018

ئينڊر دستاويز جمع ڪرائڻ جي تاريخ ه 23.01.20 تي 1.00 وڳي تائين

ٽينڊر/ آچرن کوُلُڻ جي تاريخ ۽ وقت \ 23.0\.2018 تي 1₆30 و¹ ي تائين

پني چي ليٽر هيڊتي لکت پر درخوات 🛪 گهريل د. لويز جي اي آر بي ۽ اين ٽي آين سرٽيفيڪيٽس جي ڪاپي، عيوض ۽ خهن به ڪر نهن تي ٽينبر دستاون جي قيمت 500 رپيا (هرهڪ لار) د ورڻ جوڳا ادا ٻي انڊ برافت جي صورت ۾ ورڪرس ويلفيئر بورڊ سنڌ جي حق ۾ تيمار ٿيل آڻاڻ عيوض هيٺ ۾ المالي ايدريس تان حاصل ڪري -گهجن ٿا.

سَ وَيَلْفَيْشُرُ بُورُو مَـ نَذَ، أَيْجُوكِيشُن سيكشُن، تـ ١٤، بلاكـ، گلشن اقبال، لِكُ نيبا چورنگي، كراچي

نئيمه ريٽري/ سي اي او





رن نعبر: 021:35219714-35219715 ····· فيكس نعبر 021:35219716

03442190244 :

appealdaily@gmail.com daily.appeal@yahoo.com Website: www.dailyappeal.pk

لمشر فاطمه محسن. پرنتر انور ڌولا کان نيو محمدي پرنٽنگ ، ريلي پلڊنگ، تالپر روڊ ڪراچي مان ڇپائي. سئت 508. فلور نمبر 5. پينو راما سيئٽر_2. راجا غضنفر علي خان روڍ. سدر كراچي مان شايع كئي.

ايديٽر: شيرمحمد کهاوڙ کو ایدیتر: عبدالغفور ای میمن

مو 05 جنوري 2018 ع بمطابق 17 ربيع الثاني1439هـ



(سنة وركرز ويلفيشرز فند إيكت. 2014 تحت قاشر ئيل)

سنڌ ۾ واقع سمورن ورڪرز ماڊل اسڪولن ۽ ڪاليجن لاءِ آفيس اسٽيشنري جي فراهمي.

مقي ڄاڻايل شين ۽ پرنٽنگ آرٽيڪاڙجي فراهمي لاءِ انڪر ٽيڪس ۽ سيلز ٽيڪس /ايس آر. رڻان رحستر ٿيل معروف ۽ اسٽيبلشم فرمن/سهلاگرز /شيڪيدارن کان مهربند آچرن گهرائجن ٿيرن.

آچ/ڄاڻايل آرٽيڪلز قيمت جو ٪3	PO/DD جي صورت ۾ واڪسيڪيو ٽي:
نوتيس جي إشاعت/لڳاڻڻ	تينبر دستاويزنجي وصولي (شروع ولدي تاريخ):
23_1_2018	لينبر دستاويون جي وصولي أخري داريخ):
23_1_2018 منجهند 1:00 وكِي نائين	لينفر دستاويز امالڻ جي تاريخ ۽ وقت:
2018_1_23 منجهند 1:30 وكمي دائين	لينڊر/أچ كولڻجي تاريخ ۽ وقت:

دستاويزن جي وصولي: تينفر دستاريز كميش جي ليترهيد دي لكت و درخواست ديڻ ۽ جي ايس تي ايس ار بس ۽ ايد تي اين سرتيفڪيش جن ڪاپيون سان موڪاڻ ئي افيس وقت دوران 500 رويس جي ادائيگي ١٥ هڪ) بطور تينمر دستاويز اناقابل واپسي /ناقابل منتقلي) مصورت يي او/دي دي بحق "سڌ ورڪرز ريافيشر بوره" ڪرڻ تي هيدين لندويس تان حاصل ڪري سگهجن ٿا.

دى اسستنت سيكريتري(ايدمن) وركرز ويلفيئر بورد سنڌ (ايجوكيشن سيكشن) استريت _19, بلاك_6. گلشن اقبال ويجهو نيپا. كراچي

فون: 12_99244681 و21_99244681

- ا مهربند ٿيل آجرن ضروري دستاويزن سان گڏجن سان لازمي طور تني واڪ سييڪيورٽي ذريعي شامل ٿيل سنڌ ورڪرز ويلفيئر بورڊ ڪراچي وٽ ٿيندر دستاريزن جي جمع ڪرائڻ
- ذریعی شامل گیل سنڌ ورکرز ریافینئر بورد کراچی وت تیندر دستاریزن جی جمع کرائن اوری باریخ ۽ وقت تی جمع کرائن اوری باریخ به وقت تیندر دستاریزن جی جمع کرائن اوری باریخ به وقت تیندر دستاریزن جی جمع کرائن آج کان جو طریقر معیار تعد گهریل یا بشی کنهن سامان ۽ بین دستاریزن جیئن واک جی جاج پرتال واری معیار تعد گهریل یا بشی کنهن ضروری سمجھی ویندر معلومات تی لازمی طور مشتمل مثن گهرجی، اچون مشی چاتایل تاریخ ۽ وقت تی آج ڈیندرن یا سندن مجاز عبوضین آڈو کولیون ویندیون متوقع آچون ڈیندلن کی قیندر کولٹ واری عصل بر (هک عیدوضی) طور سیکریٹری ورکز ویندیشر بورد سنڌ جی آفیدی . ۱۵ فاور میرین فیصل بلانگ ترسری سیکریٹری ورکز ویندیشر بورد سنڌ جی آفیدی . ۱۵ فاور میرین فیصل بلانگ ترسری السناپ، مین شاعرام فیصل کرائی، ت شرکت جی دعوت ڈجی ٹی
- الهورن ۽ شرطيا تيندرن تي ڪور تحور نہ ڪيو ويندو سنڌ ورڪرز ويلفيٽر بورڊ سنڌ پيلڪ پروڪيورمينٽ ريکيولينسري الدارتسي. 2010 جي لاڳاپيل فقرن دهت ڪنهن به هڪ آج کي قبرل يا ره ڪرڻ جو حق معقوظ رکي ٿي/ ٿو.

اسستنت سيكريتري (ايدمن) فارسيكريٽري C.E.Ö/ وركرز ويلفيئر بورد سنڌ، كراچي INF/KRY NO:40/2018

ST_19 ، بلادة). لگ STEVTA . سمهرن ليئرو كلب، گلشن البال كراهي _5300